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V EEERBE
(1) Z3lEgKk

(BF4EFEE)
( mL)

E & 5

Anabaena  spp.

Chroococcus spp.

Merismopedia spp.

Microcystis spp.

Phormidium spp.

¥ E $

258

296

324

232

110

68

158

90

146 968| 1262

Achnanthes spp.

18

14

28

14

Amphora spp.

Asterionella spp.

Aulacoseria spp.

Bacillaris spp.

Cocconels spp.

44

Cyclotella spp.

Cymatopleura spp.

Cymbella spp.

46

A=l

4 52 104

Diatoma spp.

2 20 60

Diploneis spp.

Fragilaria spp.

30

54

Frustulia spp.

Gomphonema  spp.

26

Gyrosigma spp.

Melosira spp.

14

18 36

Navicula spp.

132

134

108

58

26

02

98 620 644

Neidium spp.

Nitzschia acicularis

Nitzschia spp.

24

56

Pinnularia spp.

Rhoicosphenia spp.

Rhopalodia spp.

Tabellaria spp.

Surirella spp.

Synedra acus

Synedra ulna

Synedra spp.

34 38

Urosolenia spp.

N

' ® #

Ankistrodesmus spp.

N

Chlamydomonas  spp.

Chlorogonium spp.

Chloromonas spp.

Closterium spp.

Cosmarium spp.

Crucugenia spp.

Elakatothrix spp.

Gloeocystis spp.

Mougeotia spp.

Oocystis spp.

Others

Quadrigula spp.

Scenedesmus  spp.

Schroederia spp.

Spondylosium spp.

Sphaerocystis spp.

Staurastrum spp.

Tetrabaena spp.

Tetraspora spp.

Pediastrum spp.

yUTNEE

I(fryplomonas Spp.

& B B

Dinobryon spp.

Uroglena spp.

W OE 8

Glenodinium

Peridinium spp.

a1—45 L EE

I Euglena spp.

N

'?@/éﬁ (Frenzelina)

E !m "1,".'.:

#

734

268

306

334

244

114

70

162

96

152 976] 1274

10




(2) Z3l

VUERZK

(=30
(

45FE)
/10mL)

B E ) 0 1 0 0
Anabaena  spp.

Chroococcus spp. 1

Oscillatoria spp.

¥ B H 20 307 18 4
Asterionella spp. 1
Amphora spp. 2

Achnanthes spp. 1 3

Aulacoseira spp.

Cocconeis  spp. 5 33 3
Cyclotella spp. 1 1

Cymbella spp. 1 15 1
Diatoma spp. 2

Fragilaria spp. 27

Gomphonema — spp. 10 2 1
Melosira spp. 2 1
Navicula spp. 12 110 11 2
Nitzschia spp. 83

Pinnularia spp.

Rhoicosphenia spp. 5

Synedra spp. 14

Surirella spp.

% & % 1 10 0 0
Ankistrodesmus spp.

Oocystis spp. 1

Chodatella spp. 1

Cosmarium spp. 2

Quadrigula spp. 1

Scenedesmus spp. 3

Stigeoclonium spp.

Chlamydomonas spp. 3

VEFIY 0 0 0 0
ICrypmmnnas Spp.

wm e E 8 0 1 0 0
|[r'ym110d1'111'um Spp. 1

® BB 0 1 G
[z i

E3 /] e 21 320 18 4

A




